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THE4 & AR TIX R HE R T2 FEE XAy [+ AT )
THEX Sy (E i L
AL PREE HAL | B BHH PR
TR 48, 391, 000| LI flifsicid, THEBUHSEILS E20,
BN i 40, 638, 000
fl T = 30, 624, 000
BT = 27, 461, 000
ERE THA (R LA R<) 20 26, 796, 000
e T 2V 12, 830, 000
HEH T X 4,717, 000{ 3 4% 1.410 ha
FEAEXH : 0. Shasfii
FARIE L - WEREEE ST - SLAREE M 1.410 ha
FEAEX ] @ 0. Shasfeif
Bt 1.030 ha
R 2 1.030 ha
Mk (123550 1) 0.200 ha
PR+ T =« 214, 000| #A T2+ 1,190. 000 m3
B T 2y 1,622, 000 VAR BERE T 185.000 m
O% 0, 50cm
WARR MR 98.000 m
AR 1~100, 50cm
WK mERET 138.000 m

B 101~200, 50cm
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THE4 & AR TIX R HE R T2 FEE XAy [+ AT )
THREX Sy (E i L
AL B AR SH PR
WK mERET 33.000 m
E® 401~500, 50cm
VAR mERE T 4.000 m
F & 501~600, 50cm
WBLhR mERET 128.000 m
H 701~800, 50cm
TR e 1 518, 000| WAl AL B 75.000 m
AR 0~100
Bk il o 51.000 m
B 101~200
VR dEmf b 59. 000 m
CH 201~300
VR dEmf B 28. 000 m
D7 301~400
ZAT 2V 1 2,002, 000| £ AT 2,840.000 i
s BuE L T X 1 2, 173, 000| A& BUE LURHA 264. 000 m3
BT~ |
a7 Y — MEHEERRERIA 707. 000 nf
t=15cmLL T
S I LA 5.100 m3
kfgav ) —|
ary Y — MEAL 2V 1 1,538,000 = > 7 U — badd 335.000 m3

R BUBNEELY
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TH4 & o ALK J e i T FEE XY [+ AT =)
THEX Sy (T 5 G T
A4 PR S HAL | B EoX | AN
av s Y—hEET 335.000 m3
B A
B RANEA (FEA) 335. 000 m3
B AR GEHR) 335. 000 m3
R R PEP AL ER 20 46,000 =127 U — hERRALEL () 5.100 m3
T 2y 5,704, 000
& T T 2y 538, 000 & T 137.700 m
5.30 (4.00) m
KT 2y 2, 806, 000| ¥ H 5 7= UM S T (i ) 211.300 m
JIS333 3007
Mg ERE 24. 000 ¢
PC330
£V 20 192, 000| £E 7K f 2.000 T
MB-1%4 FRYER M AE55IC & D
Skt 1.000 f&pT
MB-5%4 FRYER i AR55IC & D
P L e 1,198, 000 iR AL B 28.000 m
B7 101~200
Bk il o 74.000 m
CHI 201~300
VR dEmf b 98. 000 m
D 301~400
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THE4 & AR TIX R HE R T2 BEE X4y [t AT 5]
THREX Sy (E i L
AL PREE HAL | B BHH PR
Bk il Lo 12.000 m
E® 401~500
VR dEmf BT 28.000 m
F 501~600
EET 2V 513,000| 3B T 727.000 nf
YN = 68, 000 WfR AR T 4.000 fEFT
4.00m, A 30 <H =100 H = 0.65
WR AR T 1.000 &
4.00m, B 100 < H 200 H=1.5
VAR AR T 1.000 f&FT
4.00m, C 200 < H =300 H=2.5
75+ 85 3CHE BEANTE AR LB T K 389, 000| 7% - 8 H KR BRITE AL T 1.000
HARBELOM TZ4 ) = 65, 000
KELT 2V 37,0000 XA FF 4 +T  (EEFE2100) 5.000 m
AT K 7, 000| FEE AL & = L8 A S 5.000 m
VU ¢ 150
WAL e =V Nk 5.000 m
VU ¢ 150
/)= LT 2V 21, 000| 277 - T7% 0.200 m3
AU e 1.100 nf
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THA & o AHUT IR i M s T2 FERX 5y [ R T ]
THEX Sy (T 5 G T
B U B | Ko & R
EIEE L 0.200 m3
HEKRE T = 1 7,571, 000
FAIR L = 1 2,551,000 iR o F 7V o — DA 26.800 m
25081, 2 %1 51~ 85
B R F 7Y 2— WA 47.800 m
25071, 3% 68~135
BhR =7 U — MR A e O 74.300 m
3 A P, 600X 1400mm, |F353 (5 + T 3 &Y
BEEERTE T 2y 1 870, 000| VLR R F 7V 2 — AREBRAKFET 24. 000 1
250
B ke 7 U — MRS B U 2 Tk 1 5.000 f#
600%1400
1B R T 57.800 m
VAPV
EirRE L 40. 800 m
A7y7"a/))=k  B=300
BRI R L 17.000 m
A7y7"a/))=k  B=500
PRI (7 T A 1 295, 000| ¥ 1fi {7 L. 62.200 m
k7 ny)
1B R T 48.500 m
A7y7°as7)=k  B=300
BRI RE L 12.000 m
A7y7"a/))=k  B=500
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TH4 & AR TIX R HE R T2 FEE XSy [+ AT )
THREX Sy (E i L
AL PREE HAL | B BHH PR
IR oy 1 739, 000| VAR BEEEAMER T (BERLA) 1.000 AT
400
VAR SRR T (BERLE) 1.000 T
6 007
SSIEREg (T 1.000 =
$400
SIEREg (T 1.000 =X
$600
AU - S T X 1 133, 000( BRR B/ FHRE S S kAT 5% 1.000 &
6 007
WAR - Pk BES S A X 1.000 &
1050%M
PR L eV 1 425, 000 WRR  IEififL 1S 98.000 m
AR 0~100
Bk il o 204. 000 m
B 101~200
—HEHEK T X 1 395, 000( bR —ZEHEAK T (HEAKBEA%E L) 5.000 & T
180X 400X 600 Rl HR 3L
Wl —5HK T (ka-b) 7.400 m
BT A
BR —FHEK T (W /7Y a-h) 6.800 m
BF2A! 300 2. 0m PRI T
—5HEK T (k) 7.500 m
VU ¢ 200
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T4

& o ALK A T

R IX 5y [ kAT E]

LREA PR

HAT

e

LX) (F 55 i T8¢

—ZEPK T GER)
VU ¢ 200

R AL = VBT ()
$200X45°  (TSHETF)

B —%PKk T (AR
RFT7Y 2—Ah

B —ZHKk T (BRav7)-h)
NRFTY 2—2Ah

B —ZHKk T (BRav7)-h)
LZN RN L=

BRI RE L
AR ET ny ), B-300

11. 800 m

4.000 fH

2.000 &

1.000 EEAT

1. 000 f& AT

2.000 m

2,163, 000

S5 5 SRR IS T
Bt (B3 - F)
91 K S HL A T

1.000 =

1.000 =

o

A

HEKT

o

626, 000

390, 000

o

FLHE+FRLEL M3 0m
EF L 7K A A )

FNA  FEJEH0. 45m
5 SR AR A S

PN E K ATJE+0.55m
W U K HR

PN 0. 7m

1, 130. 000 m

363. 000 m

52.000 m

14. 000 m
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TE4 oF o AR T R fi T FEE XAy [+ AT =)
TAEXSY V55 T
AL PR HAT | B | R
Sy R L I R YN 363.000 m
Fy A
KRG K E WM AT 363.000 m
HMEL WA
I AR K HIL R 52.000 m
Erunc AV =1
I AR K HIL R 14. 000 m
F TR
AT = 223, 000| B L2 K & AR 3% 1.000 2
WIS KB A R 1.000 =
HETF - B = 7,000 Hi%& 1.000 =
T 1.000
EOEw N = 6, 000| 5 A [ 1.000 =
% T K 665, 000
YT 2 350, 000| #55 B SMHEAKEE A T8 T 67.000 Hn
B 15K A TS T 15.000 #nd
RHEA T K 315, 000 KA 10> 5 & 1.000
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T4 o o AT B R T XS [ AT 5]
THEX Sy Sk 1.9
A4 PR S HAL | B EoX | AN

PR 7SR - itk 1.000 =

PR T EAMAE ChBERE) 1.000

HEkR o 7l (hO#) 1.000 =

HIRFHEK

[HE=% 13, 177, 000
IR A 3, 163, 000
SR~ % 2 2,903, 000
ERE 2 260, 000
63K/ 2y 260, 000

RS 2 260, 000| H A= ARl Rk % 2 1.000 &

B &R - s 1.000 =
B A 20 10, 014, 000
— R P =« 7,753, 000
Wy (BT ERON) 2 38, 000
VTR A B (L F ik D N 5% 2 2, 744, 000




